Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.5.dwg

STEVES

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

OPAQUE FIBERGLASS DOOR
SINGLE & DOUBLE

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building

Code (FBC) structural requirements excluding the "High Velocity Huricane Zone" (HVHZ).

material shall be beyond wall dressing or stucco.

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment fo base

. When used in areas requiring wind bome debris protection this product is required to be protected

with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

buck masonry construction.

. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x

Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (Direct o Masonry)
2 Door Panel Details 7 Vertical Cross Sections
3 Elevations : 8 Buck Anchoring
4 Horizontal & Vertical Cross Sections {2X Buck 9 Frame Anchoring & Hardware Details
5 Horizontal & Vertical Cross Sections {1X Buck 10 Bill of Materials & Components

81.5" MAX. O.A.
FRAME HEIGHT (INSWING)

N\
Sk .-
o34
Zoill
293
AL
%,
I,l
37.5" MAX.
74" MAX. OVERALL
—| OVERALL FRAME
WIDTH FRAME WIDTH
N =
Z
=
<
=
]
o m
I
3 D
=
<
&
MAX. DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION|  FRAME INSWING OUTSWING
DIMENSION | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
37.5"x81.5" | +60.0 | -60.0 | +60.0 | -60.0
740" x81.5" | +60.0 | -60.0 | +60.0 | -60.0

0
[+,)
\n
!
(o]
z
= N
om
2sam
ZO0go
<t3
= = .
J 0w o
Q@\ 3>4m2
P«D\\\ 255
I\ Z 0w )
I 2 omn "
& OnN - B
- O O
~ijo T (Dézo
Q1% ¢ z 8 ¢
Sl Eo 500
Nc.-gg e-S}i’
Wl vy S5Ccm
— ¢ maEn
A
3]E 6%
<13 v .
8§ £u
a Ao S%
e
vl
= e
E
B
0 & a8
59 =
58| z&
SRl Bl
>l <« ©
nalgd S
L“QE_J"B
o e @,
U’LT.£<:§
P el €3
o ol & w»
2
8 gt
[+ 4
& a.
& P
>—
o
%)
z
O
2}
o
o
d
z
B
11
= |z
<L -
of I3
Z
O o
Zl lo
U]
oaTe: 8/10/22 |z
scaE:  N.T.S. S
DWG. B:  RW @
chk. B:  LFS |3
DRAWING NO.: &
N
FL—41477.5 o
N
©

SHEET _]1 oF 10




Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (20200\FL-41477.5.dwg

A4
b

. \\ v
\W

[ 1.75" —]

HINGE STIL}\

composite (VL)
CAP

INTERIOR

=—10.34"

COMPOSITE

: / CAP

EXTERIOR

19.75" LONG (LVL)

/"1 "\ HORIZONTAL CROSS SECTION

\2/

3575 MAX. DOOR
WIDTH

in
<

!

X -

O in

(X%} w)

I

x {

: @ —

= 9

% X ‘S

=

S SEE HARDWARE
TABLE

@ FIBERGLASS DOOR PANEL

FIBERGLASS DOOR SKIN: MIN. 0.07" THK.
CORE MATERIAL: POLYURETHANE FOAM

=-1.2"
2.4
. .p.'
\
LATCH STILE
LOCK BLOCK (LVL)

MODEL
LATCH: SIGNATURE SERIES
KWIKSET DEADBOLT:  SIGNATURE SERIES (980)
LATCH: F51
SCHIAGE: | neapBOLT:  BSON

COMPOSITE %
CAP \ —c[
} _4
TOP RAIL—[F= N
{LVL) 1

FIBERGLASS SKIN

INTERIOR

R

b TLob e
14
EXTERIOR

R ~I§I. v
."". . v.
R
7 > v B2

FOAM CORE—[ "~ »_

BOTTOM RAIL— =
REINFORCEMENT
(LVL)

BOTTOM RAIL — L2l L

(COMP,)

/" 2"\ VERTICAL CROSS SECTION

\2/

August 15, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
DOOR
PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oatE: 8/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL--41477.5

SHEET _2 oF 10

© 2022 R.W. BUILDING CONSULTANTS ING.



TON| SANVLTINSNDOD aNIging

‘M'H 2202

adbtilize

hM ”Mmmmmﬂ, FM%WMN«_ owm..m_m SNOISIAIY
S6SEE 714 ‘OdUIDA ‘OCZ Xog ‘O'd \Su SNOILYAT T3 28 31vd_{ON NI o m_
.o_d__ ...mhzsn_:mzoo oNIaTINg g. ATBNISSY 40 19vd S=IEF]L 55
aw 114, ¥00d Ssv1o83dld Nk e 3
2, WNOsSe, govsy oN 3d SNOS % S3A3LS o 5lzle ) )
S 0..&&&0.&...@ 7, IPIUYDS 4 UOPUAT " m cl1EER |y
I@... "o VA2, :4q poupdesd muswinoog 113naodd 2[R|813 w %
E Y = 20T ‘13sndny
¥ =
” *e o
2 G0 &
“, WHOS W
Hipggmy
| _ >
20 =
z
k 0|0 Q
<%
b >
u
LLE
-
P4
Ny, @
o< >
s
(s
™| o
>, © O
o|w
z
O
o) < Zl<
E : i
LLS
T v

BMP'S 2L -14\0202) LLpLy-14\sBuIMeIq - DASIIYIS LNVITIY L.y Ly-14\s|eroiddy 1onpoid BPLOLS - Y\IUBURWLIZ - SUOS pUe SBARIS\SIUBIID\Z



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.5.dwg

A VNGRS s

_®
(1)

0.15" C-SINK
(TYP)

I/

1-1/4" MIN. 9
EMB. (TYP.)

O

m HORIZONTAL CROSS SECTION

4 / Shown w/ 2X Buck

Outswing shown (Inswing similar)

INTERIOR :

INTERIOR

EXTERIOR

\\

EXTERIOR

0.15" C-SINK

(TYP)

O
@)

\\

O

1-1/4" MIN.
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

4 / Shownw/ 2XBuck
Qutswing shown {Inswing similar)

/5\ HORIZONTAL CROSS SECTION

w Outswing shown {Inswing similar)

0 - n
\" - ” V » VD y VV b v v ' §§“ fe2d .‘.o ”-’f g’-’)
N . &7 SR SXi¥ ¢ -AEErE
e S IR :osg 2 X g;(:g N
s> R - SR v : - N" g ql."z:m' 2n
] _V' . ‘ : & Ve : “..j z ...\OSE 8.026
. N ~r7. . /,W'.. ...Q¢<E%m
- 2, > P8 558
k /// *ceees D \\\ a>,,sz
Z T = ‘\‘@ 0y W Zdb oy
£¢ ST O/~
zE 2 S ol
Y = =m0 8fEE, Z83¢
g = 3fEs 28,0
Wl Ay 5025
@ . —~1= 7Y Bl
g e
.\ st \® gog £2 §
0 o
<
25
| 2%
\\ 28| &%
oo >N
EXTERIOR INTERIOR D, S0
s2la <8
nolz 25
/3" VERTICAL CROSS SECTION s &8 35
4/ Shown w/ 2X Buck . BelY o
Outswing shown 5 ¥ SQ
2 | TE
2 g ©
& &
>_
m
/.
/oo <
< ’45
< | 2
Z
Q
A 2
Za —"N
sE @’ 2
S
— -
g
z
n
wl | &
= <
g |:
n
T Z
g |5
wE 8/10/22 |z
ssAE N.T.S. |
EXTERIOR 4 INTERIOR DWG. BY: RW @
, CHK. BY: LFS z
/_ 4\ VERTICAL CROSS SECTION Y E
4 ] Shown w/ 2X Buck FlL—41477.5 |
8
o

- Inswing shown

SHEET _4 oF 10




TON| SANVYLATINSNGD aNIaing "m's 2202 @

L o o lory 3dad (008 X1) SNOLLDIS_SSOMO SNOISIAZ:

L6L6'659'CLE "ON SuOUd i
GBGCT T4 ‘ODUIPA ‘0fZ Xeg "0'd § TVOULHIA %% TVINOZIHOH Ad Lvd_[ON S gl .m/u .nw_
'ONI "SLNVIINSNOO ONIdTing Ky KIANISSY 90 Lavd NE I
NG, o 000 SSY19438/d LB F

N A SR BOYEY ON ‘F'd SNOS % SIALS ol |&|&lg |,

///«.v...ao.xoﬁ... %, WPIUSS 4 UopukT gl sle|E | HE
S " VY% :Aa_peindeid sjuswinoog :LONQ0¥d & m HEE &

L% 720z ‘st wsndny

A\
R

N

x
%
o\

60vEY "ON

%, Q\SIO&W -

7/
it

o

B 4 =
a4 3 . . X o
. RN _
i y_ o K
) L]
Y : __ P = < (7
SN o o o 9
S | & = ' oS
o . = ) S
o _‘ Z m:u ~, Nn» 0D
- . 1 © < I~ - > Mw
B by —
> ¢ ><
V 2, @ 3+
4 8 R O m c 9 " = mv
R ..b — m 2 W ) oc W.m
o " < Q v L e
L. — f £ o >lsc
RERE - < SO o \ o
e | S ILIIILI @ 9 <o
5 | S S | o
s Wos - : <
. . > O R — i
. b v . . !
s a4 ™D .

EXTERIOR
hy

("dAL) "awW3
‘NIW /1L

("dAL) "aw3
NIW /11

/"2 "\ HORIZONTAL CROSS SECTION
W Shownw/ IXBuck
Oufswing shown {Inswing similar)

INTERIOR

iy
(R

/1" HORIZONTAL CROSS SECTION

i

A 44,

1-1/4" MIN
EMB. (TYP.)

W Shown w/ TX Buck .
Qutswing shown {Inswing similar)

AR
v
v
<
v
<
<
AU
<
v
<
IR
<
v
. : <
e .

BMP'S' 2Ly LY-14\0202) LLvLy-14\sBuimeIq - D\SIYIS INVITIY LLyLy-T4\s|eroiddy 1onpoid BPLOS - Y\IUBUBWIIR - SUOS PUE SBASIS\SIUSID\Z



‘ON| SINVLAINSNOD aNIaHng

"M 2202

£186 ON /Asifoy 3dad (AYNOSYW 01 103410) SNOILOIS SNOISIAZY
L616°6G9°CLE TON 8uoyd F
G6SEE T4 ‘OdUIDA 'OSZ Xog ‘O'd § SSOHD VOLLYIA % TIVAINOZIMOH A8 310 _{ON N A M m_
0.7____ _..m_.zﬁ._:mzoo oNIaINg g. TaNISev 90 1uvd S B S
UG ol BETEEE S ls|eff |
S .NVG....aoEoﬁ..... 7, IPILUSS "4 UOPUA] i m 61y w (gl v
~N 10NA0xd 213181518 &
3xi ¥
+ . 60¥EY 'ON I“
\\\ o»oo .'- QIII
%, G A &
\\\\\ \:Iom W/////
gy
274
)
(dAL) 'gW3 m_ =
NIW B/ L Z m
\\,/v\ . ag. m m:
o . » ” m
B. . ; y o . ..,A . m M
IR o o Ol2¢
0 a’ A _ m - v el d an
B | > < N < L2
SBL R == = C el
. * O Jor =iz e
s _ = d W&oz
s K e Q w \EE N i
a N o X o
. ) O <r |~
>l 3l NN e 8 @
. o ..m W \ . [2 4
.. C M O n.\\\::\w:::\\.\\\ E
| _ 2|25 . s
2 Sl 2 .
‘4 " W.M .
- =52 S
> ol >[50 o v
e a4 & ~N a :
® D ~
(‘dAL) ‘awa -
NIW.F/L-L
-4
S| -
=l B
=
) N..N
(7]
S aleEc
Zao m mw
ZE GiEs
=< gles
- _M ..mm
Qb2
S
O .m 5
A0
mw
5 o
& &
= 5 z
e
=l B
gﬁﬂﬁ 2 E
- s @
a2
~ \@ Mnu mm
[
(§) Mnm.\
Zaz ez
© X4 Qlfe
- &332
e oles
— N — f E|53
v . > . N
v oV _ K
N e R v Y e o w0
> - A AU
/
[a]

BMP'S 2L Lp-14\0202) LLYLy-1\sBumeld - D\S3IMIS INVITIY £LpLb-1\sleAciddy 10npoid BPLOLS - Y\IUBUBULIRG - SUOS PUB S3ABIS\SIUBIIO\Z



TON| SINVLINSNGDO aNiaging

MY gegoz §

£186 ‘oN Aisibey 3484

L616°6S9°CL8 "ON 8uoyd SNOLLO3S SNOISIA3Y i
S6SEE T4 OOLIDA ‘0£Z Xog ‘O'd \:v SS0H9 "IYOILYIA A8 A0 _TON alzlo] & 9
"ONI ‘SINVLINSNOD SNIGTING g. “XTEN3SSY Y0 1uvd DI
2, 80bSH 'ON '3I'd 4000 S5V 1953814 M i ) s 2 .4: 7_
(4]
L, e SOYEY. ON 3 SNOS % S3AILS e BlElE L
:10NA0Yd HEIHHEE &

EXTERIOR

INTERIOR

\\

EXTERIOR

\\

INTERIOR

m VERTICAL CROSS SECTION

\7/ Outswing Threshold

(dAL) g3

"NIW J#/1-1

/"1 "\ VERTICAL CROSS SECTION

\U Inswing Threshold

('dAL) "aw3
"NIW /11

BMp'S'LLpLr-14\0202) LLPLp-T4\sBuIMeIq - D\STYTS INVITIY LLYLY-T4\s[eroiddy 1onpOId BPLIOJ - Y\IUSUBWIIR - SUOS PuB S9ARIS\SIUBID\Z



TON SINVLATINSNGOD oNnigiing

‘MY 2202

£186 ON Ansibey 3ded SNOISIATY
L616°6S9°CL8 "ON suoyd F
GBGEE T4 'OSWIDA ‘0SZ Xog ‘O°'d \Sv INIMOHONY Xond A8 LvQ 1ON S E I n m_
o_v_:_ ...mkzﬁ.swzoo oNIaTing @ XT8W3SSY 90 1avd N LS5
azs :\s JI|Z g3
S e Sela ek |
>N ......EO..... ' IPIWIYDS ‘4 Uopuikl .o ]G L IE T
SN0 < :10Na0¥d m m HHE m
(dAL) "XvW
—] _tl:w: ‘0091
In! 1 1 t 1 1
=
o &
%
A
Co * = X
Ry g vl
..< « A \l.’ ¢ d 4.
L o o
Nt o3 > "y
N aE
] < RN
Y [ 8] -
« ........ x ......'
e [ ] | | LR
» S N RTINS SN S O
N 4... . vnt ..... ...! - N
=
@)
<
<
b4
O
-
(dAl) (dAL) "XwW @
1 "0'0.91 ¢
« ' o~
o 1 | 1 I t
<E M g <
" ol Ty
! 5 .
| [ [ LTSE
FE R - [ 4
o K .T. \ N Bd Z
e . i . w
<
=

BMP'S £ 2L p-14\0202) LLpLy-TA\sBUmMeIQ - D\S31Y3S INVINFY LLPLY-T4\s[eA0sddy 1DNPOId BPHOJS - V\IUBUBWLIS - SUOS pue saAdIS\sIUBD\Z



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.5.dwg

N
FRAME CORNERS ATTACHED w/ (3} 7/16" ASTRAGAL SCREWS LOCATED AS SHOWN w/ ,S\\ A
CROWN X 1-1/2" LONG 16 GA. STAPLES & {2} (3} LOCATED ON EACH SIDE OF LOCK & < Q,-"
#7 X 2" DRYWALL SCREWS @ HEAD & SILL (TYP.) (t: DEADBOLT STRIKE PLATES {13 SCREWS TOTAL) S ':':é’
g =X
3 (IYP) 6" (TYP.) ih, Ip  #8X2'PHSMS = 0;?;
‘ 4 [TYP.) —— ,‘ T NS (TYP) = "3
F ’ ..
_ I TRT | T . [ - ! 283
1 i 5, —m ik i
s oE = LT
2X BUCK o ~ o o)
O ~| TE —  (1)2xsuck - = - EE 23 i
(F)xsuck . R6 £2 37 N
DIRECT TO (F)auc * e BbSLE
— MASONRY — m Dy | SEEASRAGAL || T NG ag 7
JAMBS = o
BOLT STRIKE BOLT . '
I ey —— HEAD & JAMBS ﬁa J }_ - ]
~ 1 By oEALS ||} BT B3 >\
1 “ T SEE STRIKE
- ] PLATE DETAIL
r Jg SEE STRIKE i (TYP.)
I~ - =l o2 ||  PLATE DETAL N
= T . 2
FRAME | JE DOOR SILE -3 (PYP i o
()=~ I o2 _ (TYP.) —_ . . Py
< g A T I SEE HINGE =
- el DETAIL okt i
e, !
X RING X STRIKE JAMB HINGE JAMB ASTRAGAL
FRAME ANCHO L\ * 3.5" X 4" 20 GA. STEEL PLATE ATTACHED TO
DIRECTTO BACK OF LOCK JAMB w/ (4) 1" CROWN X
MASONRY ®\ @>® 5/8" LONG 16 GA. STAPLES
1XBUCK DIRECTTO
M
2X BUCK @ | MASONRY
T @< ! F’@ A; G )1XBUCK
/oy = N o L )2X BUCK
= - ® Lo
T o S—— STRIKE PLATE DETAIL _(23) @é; i ‘<\@
|’ o t| DOUBLE DOOR @9 TOP PLATE
DIRECTTO W\ \
@ HEAD @SILL\@ DIRECTTO MASONRY ' /@ ¥
)
ASTRAGAL BOLT STRIKE PLATE DETAILS DRECTTO ~ MASONRY xuck (G) @ HINGE DETAIL
INSWING MASONRY 1XBUCK X BUCK S INSWING
1X BUCK -
ASTRAGAL BOLT 2X BUCK (21 Y BACKPLATE DIRECTTO
HOLE 2X BUCK N \ MASONRY
2X BUCK .
\\ 2X BUCK (25 \:E 1X BUCK
o\ xuck (G) n | 2X BUCK
R 1X BUCK i
_ S == X 0 DIRECTTO \ o H|* o
5 / DIRECT TO MASONRY ' 2 o Hlogr—] @
MASONRY —
KWIKSET HARDWARE SCHLAGE HARDWARE \
@SiLL @ HEAD SINGLE DOOR SINGLE DOOR \
ASTRAGAL BOLT STRIKE PLATE DETAILS HINGE DETAIL
OUTSWING HARDWARE DETAILS OUTSWING

BUILDING CONSULTANTS, INC.
P.O. Box 230, Valrico, FL 33585
Phone No.: 813.659.9197

August 15, 2022

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
FRAME ANCHORING
& HARDWARE DETAILS

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 8/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—~41477.5

SHEET _9 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.5.dwg

BILL OF MATERIALS

EM # DESCRIPTION MATERIAL
A |1XBUCK (G >=0.42) WOOD
B | 2XBUCK (G >=0.42) WOOD
C | 1/4"MAX. SHIM SPACE )
D |1/4"X 2-3/4 PFH DeWALT OR ITW CONCRETE SCREW STEEL
¢ | MASONRY - 3,000 PSTMIN. CONCRETE CONFORMING TOACT | ~ 5\ et

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G | 3/16"X 3-1/4" PFH TW CONCRETE SCREW STEEL
L | #10 X 2-1/2" PFH WOOD SCREW (1.15" MiN. EMB.] STEEL
M | 3/16' X 2-1/4" PFH TW CONCRETE SCREW STEEL
P | 1/4" X 2-1/4" PFH DeWALT OR TW CONCRETE SCREW STEEL
1 | WOOD JAMB WOOD
7 | WEATHERSTRIP FOAM
8 | SWEEP VINYL
9 | 4" X4 HINGE STEEL
11| #9 X 3/4" PFH WOOD SCREW STEEL
12| LATCH STRIKE PLATE STEEL
13| DEADBOLT STRIKE PLATE STEEL
14| INSWING THRESHOLD ALUM/COMP
15 | OUTSWING THRESHOLD ALUM/COMP
20 | #9 X 1/2" PFH WOOD SCREW STEEL
21 | #12X 2-1/2" PFH WOOD SCREW STEEL
23 | #8 X 3/4" PFH WOOD SCREW STEEL
25 | #8X 2-1/2" PFH WOOD SCREW STEEL
26 | #8X 2" PHSMS STEEL
37 | ASTRAGAL STRIKE PLATE STEEL
38 | ALUMINUM ASTRAGAL ALUM
40 | DOOR PANEL -

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joinis.

—

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

TTW BUILDEX

TAPCON® 1-1/4 7
DEWALT " " " ud
utiRAcoN: | I/ 114 1 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

1.25"

0.75"

! 2.15"

WOOD JAMB
FINGER JOINT PINE

ALUMINUM CONCEALED

STIFFENER (4" LONG]) \

5/16" @ STEEL SLIDE BOLT
(20" LONG) = 1

5.62"

1.44"

14 INSWING THRESHOLD

Columbia

[—— 175" —~]

0.06"

2.88"

g

ALUMINUM ASTRAGAL
38 DLP

| —— D 44" ————»]

~1.38" =

o

Y

46" 1

15 OUTSWING THRESHOLD
Columbia

August 15, 2022

P.0. Box 230, Valrico, FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

STEVES & SONS
FIBERGLASS DOOR

n
o
]
o 28
A =a
= L._g
558
= = éc'a
x| @
§ o
-
2 %
[+ o
&
%)
Z
Q
2]
|
4
o
<
o
o
zZ
DATE: 8/10/22
scate:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
~ |prAwING NO.:
FL—41477.5

SHEET 10 oF 10

© 2022 R.W. BUILDING CONSULTANTS ING,



